C

Multiplication squares

)

Fill in and complete the multiplication squares. Multiply the
numbers in each row and column to get the given product.

8 | 6 |48
910

0 |54
8 40
9 163

56 | 45
919 |81
56

63 | 72
= 36
3 124

32 | 27

24

56

56

24

36

45

45

36

90

16

20

72

48

27

54

24

8 | 8
9 18
9 |16
8 140
6 | 54
45 | 48
5 40
9 81
72 | 45
ol 36
7 |56
32| 63
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C

Multiplication squares

)

Fill in and complete the multiplication squares. Multiply the
numbers in each row and column to get the given product.

8 | 6 |48
01910
0 |54

8 | 5140
719 |63
56 | 45
919 |81
71 8 |56
63 | 72

4 19 |36
813 24
32 | 27

8 | 3 24
71 8 |56
56 | 24

9 | 4 |36

519 145
45 | 36
1019 190
2 | 8 |16
20 | 72

6 | 8 |48

9 | 3 |27
54 | 24

1| 8| 8

91 2 |18

9 |16

51 8 140

9 16 |54
45 | 48

g8 15 140

9 1 9 |8l
72 | 45

4 19 |36

8 |7 |56
32| 63
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